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. What are three critical structures of a nucleic acid? (10%)

. How to replicate DNA in the lagging strand? (20%)

. Please explain the following terms. (a) promoter (b) activator (c)

splicing (d) start codon (¢) DNA proofreading () Aminoacyl-tRNA
(30%)

. Please provide three mechanisms to regulate gene expression. (20%)

. Prof. Svante Pdibo succeeded in sequencing the genome of the

Neanderthal, and also discovered a previously unknown hominin,
Denisova. As a result, he won the Nobel Prize in Physiology or
Medicine 2022. Please describe the molecular methods he used in the

above description. How does it work? (20%)




